

ESTIMATE FOR RAISING COMPENSATORY AFFORESTATION PLANTATION UNDER LIKABALI FOREST DIVISION

Name of project

Laying of 33 KV T/L from Namsai to Diyun.

User Agency Location of CA : Power Deptt. : Simen PRF

Area of CA

34.2105 x 2=68.421 ha or say 68.45 ha.

Wages rate (DL)

333/-

:

	Wages rate (DL)	Unit	Qnt	Rate	Amount	
		Offic			10.10	
	Creation of Nursery	ha	75295	18	1355310	
	Cost of seedlings @ 1100 Nos. /	na	,0200			
	ha	7				
1	1ST YEAR OPERATION		68.45	1332	91175	
•	Survey & demarcation and	ha	00.10			
	prepration of map @ 4					
	mandays/ ha.					
	Sub Total					1
2	OND YEAR OPERATION		4700	231.52	1088144	
	(i) Frection of barbed wire	Rmt	4700			
	fence (5 strand) fencing per 100					
	Barbed wire lencing					
	of erection cost in each	4				
	year from 3rd year to 6th year					
	Add 10% escalation value by	y				
	multiplying factor:		_			
	1.20 for 3rd year					
	1.3 for 4th year					
	1.4 for 5th year					
	1.5 for 6th year			18	33883	32
	Sub-Total Raising of seedlings for	or No.	1882	24		
	casualty replacement					
	3rd year 15%=165 Nos					
	3rd year 15%-103 Nos. Tota	al=				
	4th year 10%= 110 1105. 1555					
L	275 Nos. 4 RAISING OF PLANTATION			531	36356	553
	4 RAISING OF PLANTATION	nd. ha	68	45 531		
	(i) Clearance of brush woo	of				
	planting lines & staking					
	debries @ 15 mandays/ha. (ii) Alignment of pits	&				
	preparation of stakes, stakin					
	1 /ho					
	10 mandys/ha (iii) Digging of pits 30 Cm X	30				
	(iii) Digging of pits of Cm X 30 Cm @ 22 mandays	/ha				
	(iv) Prepration of thala	by				
- 1	uprooting of debris by ho	eing	V			
	around pits @ 22 mandays/	ha	1			
	1 11					
	(v) Carring of sapling to	the				
	(v) Carring of Saping to	g of				N.
	planting site i/c planting	ea II)	1			
	planting site 1/c planting sapling @ 30 mandays (Area 10/ha				Section 1	
	& 20 mandays (Area-IO/ha					

7			//	//		//		//
- (((vi) Making of inspection path	((((
	1mtr wide @ 3 mandays/ha							
	(vii) Fire line cutting 3mtrs wide							
	along the periphery @ 5			_				
	mandays/ha (viii) Tending - 4 weeding @ 12							
	mandays/weeding/ha							
	Add 10% escalation value on							
	total of item 4(i) to 4(viii)		68.45	17982		1230868		
5	3RD YEAR OPERATION	ha	68.43	1,,,,,				
	(i) Tending - 3 weeding @ 12							
	mandays/ha							
	(ii) Casualty replacement 15%							
	(iii)Maint. of inspection path @							
	1 manday/ha (iv) Maint. Of fireline @ 1							
	(iv) Maint. Of memic &							
	manday/ha Add 20% escalation value on							
	total of item 5(i) to 5(iv)		68.45	14286		977877		
6	ATH VEAR OPERATION	ha	68.43		1			
0	(i) Tending -2 weedings @ 12							
	david/weeding/ha							
	(ii) Casualty replacement 10% @				1			
	7 andoxe/ha							
	(iii) Maint. Of inspection path w				4			
	la dox/ho							
	(iv) Maint. of fireline @ 1				-			
	manday/weeding/ha				N.			
	Add 30% escalation value on		10.45	652	27	446773	3	
	item 6(i) to 6(iv) 7 STH YEAR OPERATION	ha	68.45	002				
	(i) Tending - 1 weedings @ 12							
	1 - /ryspeding/hd							
	(ii) Maint. of inspection path @						-	
	1 11-0							
	1 manday/na (iii) Maint. Of fire line @ 1				_		1	
	(iv) Add paid holiday @ 18.0376				_			
	1 7 (1) to 7 (111)							
	Add 40% escalation value on			- 60	993	4786	71	
	item 7(i) to 7(iv)	ha	68.4	의				
	8 6TH YEAR OPERATION (i) Tending - 1 weedings @ 12							
	/oding/nd			-				
	mandays/weeding/ha (ii) Maint. of inspection path @							
	1 / 100						1	
	1 mnday/ ha. (iii) Maint. of fireline @ 1							
							1	
	manday/ha. Add 50% escalation value on	ı				182	351	
	- (I) (O(iii)	ha	68.	45	2664	102		
١ ١	9 7TH YEAR OPERATION	IIa						

(i) Maint. of inspection path /					
		(((
fireline & climber cutting @ 5					
mandays/ha Add 60% escalation value on					
	3			100700	
total item 9(i) 0 8TH YEAR OPERATION	ha	68.45	2831	193782	
(i) Maint. of inspection path /					
fireline & climbing cutting @ 5					
mandays/ha					
Add 70% escalation value on					
item 10(i)					
Sub-Total		50.45	2997	205145	
11 OTH YEAR OPERATION	ha	68.45	2331		
(i) Maint, of inspection path /					
fireline & climber cutting @ 5					
mandays/ha					
Add 80% escalation value on					
total of item 11(i)	ha	68.45	3164	216576	
10 IOTH YEAR OPERATION		00.75			
(i) Maint of inspection path /					
fireline & climber cutting @ 3	·				
days /ha					
Add 90% escalation value or	1		- 12222	5220000	
total of item 12 (i)	No.	3	1740000	322000	
13 Wages for plantation watchmar	d				
at the rate of Un/skilled	O				
labourer round the year for 1	v				
year (one watchman for ever 25 ha) @ 10000/- for Area II no	8.				
25 ha) @ 10000/- for Area-II po	er				
month. Add escalation value b	oy П				
multiplying factor 1st year.					
multiplying facts					
(M.F=1.1) for 2nd year	-				
(M F=1.2) for 3rd year					
(M.F=1.3) for 4th year					
(M F=1.4) for 5th year					,
(M.F=1.5) for 6th year					
(M.F=1.6) for 7th year					
(M.F=1.7) for 8th year					
(M.F=1.8) for 9th year			00 4920	9840	00
(M.F=1.9) for 10th year	d (2) No	. 2	.00 4920	,00	
-f ORT labour sile	u (2)				
ll a selecte al Flatto	((10				
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1					
of 15 ha and upto 25 ha be	d for	1			
of 15 ha and upto 20 the 25 ha one room to be adde every 13 ha or part there		1			
every 13 ha or part there					
proportionate cost.					
b) Maint. Of OBT hut @ 25	5% of	1			
		1			
escalation value by multi	plying				
llescalation value is	H				

		1	T T		
1.3 for 4th year					
1.4 for 5th year					
1.5 for 6th year		1.00	2439700	2439700	
5 a) Const. of Modified improved	No.	1.00	2105.00		
Basha Type standard size					
guarter for every 50 ha					
b) Maint. of @ 20% of const.			_		
Cost per year from 2nd year to					
9th year including					
1.2 for 3rd year					
1.3 for 4rd year					
1.4 for 5rd year					
1.5 for 6rd year					
1.6 for 7rd year					
1.7 for 8rd year				16105	
1.8 for 9rd year	Rmt	2500	6.57	16425	
16 Approach foot track to					
plantation in area where				2865192	
necessary (POI				2803192	
necessary Monitoring, Supervision (POL,					
Maint. of vehicles, including TE					
etc.) @ 12% and Contingency @					
3% to meet up unseer					
expenditure i.e 15% on item	0				
No.1 to16 plus Nursery cost t	n				
expenditure Rs.19101292/-		68.45	7200	492840	
18 Provision for soil and moistur	re ha	00.40			
structures (wile	re				
needed) @ Rs. 7200/- per ha.				22459314	1
necded) &	_		Tota		
	_			or say Rs. 2245930 nine thousand three	hundred) only
	/Punees	two crore twee	nty four lakh fifty r	line indusaria imes	300

Prepared by

(P.Bui) Junior Estimator O/O PCCF, Itanagar (R.K.Singh) Nedal Officer (FCA)